

WEST BENGAL MEDICAL SERVICES CORPORATION LTD. (Wholly owned by the Government of West Bengal) Swasthya Sathi, GN-29, Sector-V, Salt Lake, Kolkata-700 091.

NOTICE INVITING TENDER DOCUMENTS FOR

- 1) Supply and installation of Fire fighting equipments in connection with the Fighting & Fire Detection System installed at various location of the Malda Medical College & Hospital, Malda.
- 2) Refilling of Fire Extinguisher installed at various locations at Malda Medical College and Hospital, Malda.

(NIT Reference No.: WBMSCL/NIT-140/2018, Dated - 13.07. 2018)

WEST BENGAL MEDICAL SERVICES CORPORATION LIMITED

(Wholly Owned by the Government of West Bengal)

Registered Office: Swasthya Sathi, GN-29, Sector-V, Salt Lake, Kolkata – 700091 Phone: 033-4034-0300 🏻 Email: info@wbmsc.gov.in 🔾 website: www.wbmsc.gov.in

I.T.B. No.: WBMSCL/NIT-140/2018 Dated: 13.07.2018

Managing Director, WBMSCL invites sealed bids through offline tendering from the bonafide, resourceful and reliable experienced Contractor in WestBengal for the following works:

Package- A:- Supply and installation of Fire fighting equipments in connection with the Fighting & Fire Detection System installed at various location of the Malda Medical College & Hospital, Malda.

Package - B Refilling of Fire Extinguiser installed at various locations at Malda Medical College and Hospital, Malda.

Package	Name of the Work	Estimated Amount (Rs.)	Earnest Money(Rs.) (Onlyfor Successful bidder)	Period of Completion	Name & address of the Office
Α.	Supply and installation of Fire fighting equipments in connection with the Fighting & Fire Detection System installed at various location of the Malda Medical College & Hospital, Malda		944.00		Managing Director, West Bengal Medical Services Corporation Limited, Swasthya Sathi Building, GN-29, Sector -V, Saltlake, Kolkata- 700091
	Refilling of Fire Extinguiser installed at various locations at Malda Medical College and Hospital, Malda.		1795.00		

The details may be available at Notice Board of WBMSCL & website www.wbmsc.gov.in from 3:00 P.M. on 16.07.2018

Security Deposit	10% of the contract amount to be deducted from the Bill.						
Releasing of Security Deposit	Six months from the date of completion of work.						
Last date of Submission of Tender	25.07.2018 up to 02:00 PM						
Date of Opening of Tender	25.07.2018 at 03:00 PM						
Validity of Quotation	60 days from the date of submission of Quotation						
Time allowed for completion of Work	10 days for both Package-A and Package-B from the date of Work order.						
Eligibility of participating bidder	Package- A:- Intending bidders should produce credentials of minimum 01 (one) similar nature of works Package- B:- Intending bidders should produce credentials of minimum 01 (one) similar nature of works						
Bid opening Venue	West Bengal Medical Services Corporation Ltd, Swasthya Sathi, GN -29, Sector – V, Salt Lake, Kolkata – 700091.						

Prospective bidders are requested to submit the bid in a sealed cover addressed to the Managing Director, West Bengal Medical Services Corporation Ltd, Swasthya Sathi, GN-29, Sector – V, Salt Lake, Kolkata – 700091 within the stipulated date & time. Submission of tender through Post will not be accepted. Tender has to be submitted by the agency or his authorized representative. At the time of opening the owner of the agency or his authorized representative may present.

Bidders are instructed to submit their bid consisting of two sealed envelope called Qualifying Bid & Financial Bid.

Sd/-Managing Director & Secretary Health &Family Welfare Department

Documents comprising the bid: (Bidders are instructed to submit their bid consisting of two sealed envelope called Qualifying Bid & Financial Bid.)

The Qualifying Bid shall comprise the following: -

- a. PAN No.
- b. PT.
- c. IT Return for the last three years.
- d. Experience in similar field.

The Financial Bid shall comprise the following:

Applicable Rate Schedules as per printed format on the letter head of the intending bidder.

(Rate in figure and word must be given in the format "A" & "B" provided below, on the letter head of the intending bidder. Rate must be inclusive of all taxes. Any additional expenditure over the tender amount will be paid. Any taxes, charges etc shown separately will not be considered. Rate Quote in any other format will be treated as cancelled). Comparison of financial bid will be based on total amount of the site/location.

Each bidder will submit their rate in format "A" & "B" stating at par, % (percentage) above or % (percentage) below.

A bidder shall have to furnish signed "Financial Bid" on their letter head.

Failing to fulfill the requirements and eligibility criteria set in the quotation will make the bidders Bid invalid. WBMSCL reserves the right to cancel or reject any or all of the Bids without assigning any reason whatsoever.

Sd/-Managing Director & Secretary Health &Family Welfare Department Managing Director, WBMSCL invites sealed bids through offline tendering from the bonafide, resourceful and reliable experienced Contractor in WestBengal for the following works:

<u>Package- A</u>:- Supply and installation of Fire fighting equipments in connection with the Fighting & Fire Detection System installed at various location of the Malda Medical College & Hospital, Malda.

<u>Package- B</u>:- Refilling of Fire Extinguiser installed at various locations at Malda Medical College and Hospital, Malda.

The brief details of terms and condition of work are given below.

1	Scope of Work:			
Schedule I	As stated in "Format A" and "Format B"			
2	Time allowed for completion of Work	10 days		
3	Eligibility of Participants: Package- A:- Supply and installation of Fire fighting equipments in	Bonafied, reliable and resourceful firm having experience in similar nature		
	Package- A:- Supply and installation of Fire fighting equipments in connection with the Fighting & Fire Detection System installed at various location of the Malda Medical College & Hospital, Malda.	of Work.		
	<u>Package- B</u> Refilling of Fire Extinguiser installed at various locations at Malda Medical College and Hospital, Malda.			
4	Release of Security Deposit	06 (Six) months from the date of completion of work.		
5	Issuance of Materials	All materials related to the completion of work will have to be supplied by the firm at his own risk and cost including cost of		
		transportation, labour etc.		

Format – A

For Package - A

BOQ of Supply and installation of Fire fighting equipments in connection with the Fighting & Fire Detection System installed at various location of the Malda Medical College & Hospital, Malda.

SL NO	DESCRIPTION OF ITEM	Qty	Unit	Rate	AMOUNT	
1	S& F of Coupling	18	Nos	718	₹	12,924.00
2	S& F of House Pipe	2	Nos	3450	₹	6,900.00
3	S& F of Branch Pipe	3	Nos	1550	₹	4,650.00
4	S& F of Hydrant Valve Wheel	2	Nos	451.4	₹	902.80
5	S& F of GST Programming Tools	1	Nos	11060	₹	11,060.00
6	S& F Nuts & Bolts (for Fire inlet valve installation)	8	Nos	112.5	₹	900.00
7	S& F of Gaskit (for Fire inlet valve installation)	3	Nos	100	₹	300.00
8	Repairing of Fire Hydrant Point.	1	Nos	9550	₹	9,550.00
				TOTAL=	₹	47,186.80
				Say Rs.	₹	47,187.00

Rupees Forty Seven Thousand One Hundred and Eighty Seven only

(Note:- All rates are inclusive taxes)

Agreed to do the work "At Par Rate" /% Below of the schedule rate /% Above of the schedule rate

Format - B

For Package - B

BOQ of Refilling of Fire Extinguiser installed at various locations at Malda Medical College and Hospital, Malda.

SL NO	DESCRIPTION OF ITEM	Qty	Rate	AMOUNT	
1	Refiling of CO2 type Extinguishers (4.5kg).	59	245	₹	14,455.00
2	Refiling of DCP Type Extinguishers (4kg)	37	1365	₹	50,505.00
3	Refiling of Water CO2 type Extinguiser (9Ltr.)	41	215	₹	8,815.00
4	Charges for dismantling the extinguiser from sight and carrying the same to workshop and reinstall the same at sight after refilling the same at workshop including loading and unloading.			₹	16,000.00
	TOTAL				9,775.00

Rupees Eighty Nine Thousand Seven Hundred Seventy Five only

(Note:- All rates are inclusive taxes)

Agreed to do the work "At Par Rate" /% Below of the schedule rate /% Above of the schedule rate